

Home Search Collections Journals About Contact us My IOPscience

A supersymmetric dispersive water wave equation

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 1996 J. Phys. A: Math. Gen. 29 2853 (http://iopscience.iop.org/0305-4470/29/11/019)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.70 The article was downloaded on 02/06/2010 at 03:53

Please note that terms and conditions apply.

A supersymmetric dispersive water wave equation

S Palit and A Roy Chowdhury

High Energy Physics Division, Department of Physics, Jadavpur University, Calcutta 700 032, India

Received 12 September 1995

Abstract. A supersymmetric extension of the classical dispersive water wave equation is proposed. The system is shown to be tri-Hamiltonian. In particular, the second Hamiltonian structure is analogous to the N = 2 superconformal algebra. A gauge map to the even-parity super KP system is exhibited.

1. Introduction

The classical dispersive water wave equation has been known for a long time. By looking upon this equation as the first in a hierarchy of equations, Kupershmidt found the system to be integrable. There were other interesting results. The hierarchy has a tri-Hamiltonian structure and is the first among a new kind of integrable systems which have come to be known in the literature as non-standard integrable systems [1]. Today, the fields involved in the classical dispersive water wave equation form the basis of the two-boson realization of $W_{1+\infty}$ and \hat{W}_{∞} algebras. In this paper, we start with a superfield version of the pseudodifferential operator associated with the aforesaid hierarchy. At this point it may be noted that the usual supersymmetrization procedure of replacing all the derivatives ' ∂ ' by their counterpart 'D' does not lead always to equations which will give back the ordinary system as a special case. An important example is the KP hierarchy [3]. On the other hand, the even-order SKP (super KP) equation does possess all these nice features. Keeping this in mind we have considered a Lax operator of the form $L = D^2 + u + hD^{-1}$. The resulting second flow reduces to the classical one when the odd fields are set to zero. We next study the Hamiltonian structures proceeding à la Kupershmidt. The second Hamiltonian structure is analogous to the classical N = 2 superconformal algebra [4]. The third Hamiltonian structure turns out to be non-local. It has been known for sometime that the equations of motion in quantum 2D gravity can be formulated in terms of integrable nonlinear equations of the KdV type. Since all the KdV hierarchies are contained in the larger integrable system, i.e. the KP hierarchy, it has been conjectured that it provides a universal framework exhibiting the underlying structure of 2D quantum gravity. The evenparity superlax operator appears to play a similar role in quantum supergravity and our system is a special case—a constrained one—of the even-order super KP system considered by Watanabe [5]. Finally, by a gauge transformation, we arrive at the even-parity pseudodifferential operator of the super KP hierarchy [6].

0305-4470/96/112853+07\$19.50 (© 1996 IOP Publishing Ltd

2853

2. The dispersive water wave hierarchy

The classical dispersive water wave equation studied by Kupershmidt is of the form

$$u_t = \frac{1}{2}(u^2 + 2h - u_x)_x$$

$$h_t = \frac{1}{2}(2uh + h_x)_x.$$
(1)

He found this to be the first (with $P = \frac{1}{2}L^2$) member of the hierarchy given by

$$L_t = [(P^+)_{\geq 1})^+, L] = [L, ((P^+)_{\leq 0})^+]$$
(2)

with

$$L = \partial + u + h\partial^{-1} \qquad P = \sum_{s} \partial^{s} p_{s}(m)$$
(3)

and $P \in z(L)$, the centralizer of L in the ring of pseudo-differential operators. P^+ is the adjoint of P given by $P^+ = \sum_{s} (-1)^s p_s(m) \partial^s$.

Hierarchy (2) is a tri-Hamiltonian system. For $P = L^m$, it can be written in the form

$$\begin{pmatrix} u_t \\ h_t \end{pmatrix} = B^{\mathrm{I}} \delta H_{m+1} = B^{\mathrm{II}} \delta H_m = B^{\mathrm{III}} \delta H_{m-1}$$
(4)

where

$$\delta H = \begin{pmatrix} \frac{\delta H}{\delta u} \\ \frac{\delta H}{\delta h} \end{pmatrix}$$
$$B^{\mathrm{I}} = \begin{pmatrix} 0 & \partial \\ \partial & 0 \end{pmatrix} \tag{5}$$

$$B^{\mathrm{II}} = \begin{pmatrix} 2\partial & \partial u - \partial^2 \\ u\partial + \partial^2 & h\partial + \partial h \end{pmatrix}$$
(6)

$$B^{\text{III}} = \begin{pmatrix} 2(u\partial + \partial u) & 2(h\partial + \partial h) + \partial(u - \partial)^2 \\ 2(h\partial + \partial h) + (u + \partial)^2 \partial & (u + \partial)(h\partial + \partial h) + (h\partial + \partial h)(u - \partial) \end{pmatrix}.$$
 (7)

3. The superfield extension

We shall consider the hierarchy

$$L_t = [L, ((P^+)_{\leq 0})^+] = [((P^+)_{\geq 1})^+, L]$$
(8)

with $L = D^2 + u + hD^{-1}$, *u* being an even superfield and *h* odd. $(D = \partial_{\theta} + \theta \partial_x)$. With $P = \frac{1}{2}L^2$, we get the following equations:

$$u_t = \frac{1}{2}(-u^{(4)} + 2uu^{(2)} + 2h^{(3)}) \tag{9}$$

$$h_t = \frac{1}{2}(h^{(4)} + 2uh^{(2)} + 2u^{(2)}h).$$
⁽¹⁰⁾

Let $u = u_1 + \theta \phi_1$ where u_1 is even and ϕ_1 is odd and $h = \psi_1 + \theta h_1$ where h_1 is even and ψ_1 is odd $(D^n(f) = f^{(n)}$ denotes the *n*th-super derivative of f). Then equations (9) and (10) are, in component form,

$$u_{1,t} = \frac{1}{2}(-u_{1,x} + u_1^2 + 2h_1)_x \tag{11}$$

$$\phi_{1,t} = \frac{1}{2}(-\phi_{1,x} + 2u_1\phi_1 + 2\psi_{1,x})_x \tag{12}$$

$$\psi_{1,t} = \frac{1}{2}(\psi_{1,x} + 2u_1\psi_1)_x \tag{13}$$

$$h_{1,t} = \frac{1}{2}(h_{1,x} + 2u_1h_1 + 2\phi_1\psi_1)_x.$$
(14)

Note that setting $\phi_1 = 0$, $\psi_1 = 0$ gives equations for u_1 and h_1 identical to equation (1).

Let us now write down a general form of (8). With $P=L^m=\sum_s D^s p_s(m)$

$$[L, ((P^+)_{\leq 0})^+]_{\geq -1} = p_0^{(2)}(m) - p_{-1}^{(2)}(m)\mathbf{D}^{-1} + \cdots$$
$$u_t = p_0^{(2)}(m) \qquad h_t = -p_{-1}^{(2)}(m) \tag{15}$$

$$p_0(m) = \frac{\delta H_{m+1}}{\delta h} \qquad p_{-1}(m) = \frac{\delta H_{m+1}}{\delta u}.$$
(16)

4. The Hamiltonian structures

If $L^m = \sum_s D^s p_s(m)$, the corresponding adjoint operator is defined to be [2]

$$(L^+)^m = \sum_{s} (-1)^{[s/2]} p_s(m) \mathbf{D}^s$$

where [S/2] is the largest integer which does not exceed S/2. In defining the adjoint operator, we have simply supersymmetrized the definition of Kupershmidt in [1]. The same definition has also been adopted in [2].

Let us use the identity

$$(L^+)^{m+1} = L^+ (L^+)^m \tag{16a}$$

which, written in full, leads to the following

$$\sum_{s} (-1)^{[s/2]} p_s(m+1) \mathbf{D}^s = (-\mathbf{D}^2 + u - \mathbf{D}^{-1}h) \sum_{s} (-1)^{[s/2]} p_s(m) \mathbf{D}^s.$$

Equating the coefficients of D^0 , D^{-1} , D^{-2} and D^{-3} on both sides, we obtain the following recurrence relations:

$$p_{0}(m+1) = -p_{0}^{(2)}(m) + p_{-2}(m) + up_{0}(m) + \sum_{j=0}^{\infty} \{hp_{2j+2}(m)\}^{(2j+1)} - \sum_{j=0}^{\infty} \{hp_{2j+1}(m)\}^{(2j)}$$
(17)

$$-p_{-1}(m+1) = p_{-1}^{(2)}(m) - p_{-3}(m) - up_{-1}(m) -\sum_{j=0}^{\infty} \{hp_{2j+1}(m)\}^{(2j+1)} + \sum_{j=0}^{\infty} \{hp_{2j}(m)\}^{(2j)}$$
(18)

$$-p_{-2}(m+1) = p_{-2}^{(2)}(m) - p_{-4}(m) - up_{-2}(m) - \sum_{j=0}^{\infty} \{hp_{2j}(m)\}^{(2j+1)} + \sum_{j=0}^{\infty} \{hp_{2j-1}(m)\}^{(2j)}$$
(19)

$$p_{-3}(m+1) = -p_{-3}^{(2)}(m) + p_{-5}(m) + up_{-3}(m) + \sum_{j=0}^{\infty} \{hp_{2j-1}(m)\}^{(2j+1)} = \sum_{j=0}^{\infty} \{hp_{2j-2}(m)\}^{(2j)}.$$
(20)

On the other hand we can also use the following relation which is nothing other than (16*a*) written in reverse order,

 $(L^+)^{m+1} = (L^+)^m L^+$

or

$$\sum_{s} (-1)^{[s/2]} p_s(m+1) \mathbf{D}^s = \sum_{s} (-1)^{[s/2]} p_s(m) \mathbf{D}^s (-\mathbf{D}^2 + u - \mathbf{D}^{-1}h).$$

Equating the coefficients of D^{-1} , D^{-2} and D^{-3} on both sides we obtain another set of recurrence relations:

$$-p_{-1}(m+1) = -p_{-3}(m) - p_{-1}(m)u + p_0(m)h$$
(21)

$$-p_{-2}(m+1) = -p_{-4}(m) - p_{-1}(m)u^{(1)} - p_{-2}(m)u - p_0(m)h^{(1)} + p_{-1}(m)h$$
(22)

$$p_{-3}(m+1) = p_{-5}(m) + p_{-1}(m)u^{(2)} + p_{-3}(m)u - p_0(m)h^{(2)} - p_{-2}(m)h.$$
(23)

Eliminating $p_{-2}(m)$, $p_{-3}(m)$, $p_{-4}(m)$ and $p_{-5}(m)$ from these equations, we finally get

$$p_0^{(2)}(m+1) = (-D^4 + uD^2 - hD + u^{(2)})p_0(m) + (u^{(1)} - 2h - 2D^3)p_{-1}(m)$$
(24)

$$-p_{-1}^{(2)}(m+1) = (2h\mathbf{D}^2 + h^{(2)})p_0(m) + (-\mathbf{D}^4 - u\mathbf{D}^2 + h\mathbf{D} - h^{(1)}p_{-1}(m).$$
(25)

So we may now write the Hamiltonian structures as

$$\begin{pmatrix} u_t \\ h_t \end{pmatrix} = B^{\mathrm{I}} \begin{pmatrix} p_{-1}(m) \\ p_0(m) \end{pmatrix} = B^{\mathrm{II}} \begin{pmatrix} p_{-1}(m-1) \\ p_0(m-1) \end{pmatrix}$$
(26)

with

$$B^{\mathrm{I}} = \begin{pmatrix} 0 & \mathrm{D}^{2} \\ -\mathrm{D}^{2} & 0 \end{pmatrix}$$
(27)

$$B^{\rm II} = \begin{pmatrix} u^{(1)} - 2h - 2D^3 & -D^4 + uD^2 - hD + u^{(2)} \\ -D^4 - uD^2 - h^{(1)} + hD & 2hD^2 + h^{(2)} \end{pmatrix}.$$
 (28)

So equations (27) and (28) yield the first and second Hamiltonian structure of the equations (11)–(14). One may note that since $D^2 = \partial$, the first symplectic form is identical to that of the ordinary dispersive water wave equation. The second symplectic operator, in the limit when all the odd variables go to zero, reproduces that of Kupershmidt. We can now proceed to determine the third symplectic operator in the present case. We first of all note that the evolution of the superfields (u, h) can also be written as follows

$$u_t = (u^{(1)} - 2h - 2D^3)p_{-1}(m-1) + (-D^4 + D^2u - hD)p_0(m-1)$$
(24*a*)

$$h_t = (-D^4 - uD^2 - Dh)p_{-1}(m-1) + (D^2h + hD^2)p_0(m-1)$$
(25a)

and using relations (24) and (25) and their derivatives (with *m* replaced by m - 2), we can finally write

$$\binom{u_t}{h_t} = B^{\mathrm{I}}\binom{p_{-1}(m)}{p_0(m)} = B^{\mathrm{II}}\binom{p_{-1}(m-1)}{p_0(m-1)} = B^{\mathrm{III}}\binom{p_{-1}(m-2)}{p_0(m-2)}$$

with

$$B^{\mathrm{III}} = \begin{pmatrix} -4u\mathrm{D}^{3} - 2u^{(1)}\mathrm{D}^{2} - 2u^{(2)}\mathrm{D} & \mathrm{D}^{6} - 2u\mathrm{D}^{4} - 2h\mathrm{D}^{3} \\ +u(u^{(1)} - 2h) - u^{(3)} + u^{(1)}\mathrm{D}^{-1}h & +(4h^{(1)} - 3u^{(2)} + u^{2})\mathrm{D}^{2} \\ -h\mathrm{D}^{-1}u^{(1)} + (u^{(1)} - 2h)\mathrm{D}^{-2}u\mathrm{D}^{2} & -(h^{(2)} + 2uh)\mathrm{D} \\ +u^{(2)}\mathrm{D}^{-2}(u^{(1)} - 2h) & -u^{(4)} + 2u^{(2)}u + 2h^{(3)} \\ & +h\mathrm{D}^{-1}h\mathrm{D} - (u^{(1)} - 2h)\mathrm{D}^{-2}h\mathrm{D}^{2} \\ \\ & & -\mathrm{D}^{6} - 2u\mathrm{D}^{4} - 2h\mathrm{D}^{3} \\ -(u^{2} + 2h^{(1)} + u^{(2)})\mathrm{D}^{2} & -u^{(2)}\mathrm{D}^{-2}h\mathrm{D}(2h^{(2)} + 4uh)\mathrm{D}^{2} \\ +(-h^{(2)} + uh)\mathrm{D} - h^{(3)} - uh^{(1)} + 2hu^{(1)} & +h^{(4)} + 2uh^{(2)} + 2hu^{(2)} \\ -h^{(1)}\mathrm{D}^{-2}u\mathrm{D}^{2} + h^{(2)}\mathrm{D}^{-2}(u^{(1)} - 2h) & +h^{(1)}\mathrm{D}^{-2}h\mathrm{D}^{2} \\ -h^{(1)}\mathrm{D}^{-1}h + h\mathrm{D}^{-1}u\mathrm{D}^{2} & -h\mathrm{D}^{-1}h\mathrm{D}^{2} - h^{(2)}\mathrm{D}^{-2}h\mathrm{D} \end{pmatrix}$$
(29)

5. N = 2 superconformal algebra

Let us now consider the second Hamiltonian structure B^{II} more carefully. Writing out the superfields in terms of the components

$$u = u_1 + \theta \phi_1$$
 $h = \psi_1 + \theta h_1$

we can evaluate the Poisson or super Poisson brackets from equations (24a), (25a). For example, consider

$$u_t = B_{11}^{\mathrm{II}} \frac{\delta H_m}{\delta u} + B_{12}^{\mathrm{II}} \frac{\delta H_m}{\delta h}$$
$$h_t = B_{21}^{\mathrm{II}} \frac{\delta H_m}{\delta u} + B_{22}^{\mathrm{II}} \frac{\delta H_m}{\delta h}$$

where B_{ij}^{II} are the elements of the matrix B^{II} . Now from the definition of the symplectic operator B^{II} we get

$$\{u(x), u(y)\}_2 = B_{11}^{II} \Delta(x - y)$$

= $(u^{(1)} - 2h - 2D^3) \Delta(x - y)$

where $\Delta(x - y)$ is the super delta function

$$\Delta(x-y) = (\theta_1 - \theta_2)\delta(x-y).$$

Also,

$$\{u(x), h(y)\}_2 = B_{12}^{II} \Delta(x - y)$$

= $(-D^4 + uD^2 - hD + u^{(2)}) \Delta(x - y).$

Recalling our definition on page 2854 of u and h

$$u = u_1 + \theta \phi_1$$
 $h = \psi_1 + \theta h_1$

we get

$$u^{(1)} = 2h = \theta_1 u_{1,x} + \psi_1 = 2\psi_2 - 2\theta_1 u_2.$$

So,

$$\begin{aligned} (u^{(1)} - 2h - 2D^3)\Delta(x - y) &= -2\partial_x\delta(x - y) - \theta_1(\psi_1 - 2\psi_2)\delta(x - y) \\ &+ \theta_2(\psi_1 - 2\psi_2)\delta(x - y) + \theta_1\theta_2(-u_{1,x} + 2u_2 + 2\partial_x^2)\delta(x - y) \\ &= \{u_1(x), u_1(y)\}_2 + \theta_2\{u_1(x)_1\psi_1(y)\}_2 + \theta_1\{\psi_1(x), u_1(y)\}_2 \\ &- \theta_1\theta_2\{\psi_1(x), \psi_1(y)\}_2. \end{aligned}$$

Comparing the coefficients of 1, θ_1 , θ_2 and $\theta_1\theta_2$ in the above two expressions we get, for instance, the Poisson brackets (30) to (33). The others can be similarly obtained.

The full set of Poisson brackets is:

$$\{u_1(x), u_1(y)\}_2 = -2\partial_x \delta(x - y)$$
(30)

$$\{u_1(x), \psi_1(y)\}_2 = \{\psi_1(x) - 2\psi_2(x)\}\delta(x - y)$$
(31)

$$\{\psi_1(x), u_1(y)\}_2 = -\{\psi_1(x) - 2\psi_2(x)\}\delta(x - y)$$
(32)

$$\{\psi_1(x), \psi_1(y)\}_2 = \{u_{1,x}(x) - 2u_2(x) - 2\partial_x^2\}\delta(x - y)$$
(33)

$$\{u_1(x), \psi_2(y)\}_2 = -\psi_2(x)\delta(x-y)$$

$$\{u_1(x), u_2(y)\}_2 = \{\partial_x^2 - u_1(x)\partial_x - u_{1,x}\}\delta(x - y)$$
(35)

$$\{\psi_1(x), \psi_2(y)\}_2 = \{-\partial_x^2 + u_1(x)\partial_x - u_2(x)\}\delta(x - y)$$
(36)

$$\{\psi_1(x), u_2(y)\}_2 = -\{\psi_1(x)\partial_x - \psi_2(x)\partial_x - \psi_{1,x}(x)\}\delta(x-y)$$
(37)

(34)

S Palit and A Roy Chowdhury

$$\{\psi_2(x), u_1(y)\}_2 = \psi_2(x)(x - y)$$
(38)

$$\{\psi_2(x), \psi_1(y)\}_2 = \{-\partial_x^2 - u_1(x)\partial_x - u_2(x)\}\delta(x - y)$$
(39)

$$\{u_2(x), u_1(y)\}_2 = (-\partial_x^2 - u_1(x))\delta(x - y)$$
(40)

$$u_2(x), \psi_1(y)\}_2 = -\{\psi_1(x)\partial_x + \psi_{2,x}(x) + \psi_2(x)\partial_x\}\delta(x-y)$$
(41)

$$\{\psi_2(x), \psi_2(y)\}_2 = 0 \tag{42}$$

$$\{\psi_2(x), u_2(y)\}_2 = -\{2\psi_2(x)\partial_x + \psi_{2,x}(x)\}\delta(x-y)$$

$$\{u_2(x), \psi_2(y)\}_2 = -\{2\psi_2(x)\partial_x + \psi_{2,x}(x)\}\delta(x-y)$$
(43)

$$\{u_2(x), u_2(y)\}_2 = -\{2u_2(x)\partial_x + u_{2,x}(x)\}\delta(x - y).$$
(44)

Let us define

{

2858

$$T = -u_2 + \frac{1}{2}u_{1,x} \qquad U = u_1 \qquad G^+ = \psi_2 \qquad G^- = \psi_2 - \psi_1.$$
(45)

Then we get the following Poisson brackets between these fields:

$$\{T(x), T(y)\}_{2} = -\frac{1}{2}\partial_{x}^{3}\delta(x-y) + 2T(x)\partial_{x}\delta(x-y) + T_{x}(x)\delta(x-y)$$
(46)
$$\{T(x), U(y)\}_{2} = U(x)\partial_{x}\delta(x-y)$$
(47)

$$\{T(x), G^+(y)\}_2 = \frac{3}{2}G^+(x)\partial_x\delta(x-y) + \frac{1}{2}G^+_x(x)\delta(x-y)$$
(48)

$$\{T(x), G^{-}(y)\}_{2} = \frac{3}{2}G^{-}(x)\partial_{x}\delta(x-y) + \frac{1}{2}G^{-}_{x}(x)\delta(x-y)$$
(49)

$$\{U(x), G^+(y)\}_2 = -G^+(x)\delta(x-y)$$
(50)

$$\{U(x), G^{-}(y)\}_{2} = G^{-}(x)\delta(x-y)$$
(51)

$$\{G^+(x), G^+(y)\}_2 = 0$$
(52)

$$\{G^{+}(x), G^{-}(y)\}_{2} = \{\partial_{x}^{2} - T(x)\}\delta(x - y) + \{U(x)\partial_{x} + \frac{1}{2}U_{x}(x)\}\delta(x - y)$$

$$\{G^{-}(x)_{1}G^{-}(y)\}_{2} = U_{x}(x)\delta(x - y).$$
(53)

From equations (46)–(49), we can identify T as the energy–momentum tensor, U as a spin 1-field, G^+ and G^- as spin- $\frac{3}{2}$ fields. The above algebra is analogous to the classical N = 2 super conformal algebra.

Finally, let us consider a gauge transformation on the operator L:

$$L' = \mathrm{e}^{-\phi} L \mathrm{e}^{\phi}.$$

This L' is then of the form

$$L' = D^{2} + u_{-1} + u_{0}D^{-1} + u_{1}D^{-2} + \cdots$$

with $u_{-1} = u + \phi^{(2)}$, $u_0 = h$, $u_1 = h\phi^{(1)}$, $u_2 = -h\phi^{(2)}$, and so on.

L' has the form of the even-parity superlax operator of the super KP hierarchy [6]. It should be pointed out that in [6] the N = 2, superconformal algebra was also deduced from the super Gelfand Dickey formulae.

6. Discussion

In our above analysis we have demonstrated that an extension of the Lax operator in the sense of an even-order super KP hierarchy can lead to a sensible super extension of dispersive water wave equation. It may be added that an extended form of the dispersive water wave equation was previously given by Kupershmidt himself [7] but it did not involve any odd variables.

Acknowledgment

One of the authors (SP) is grateful to CSIR for a Senior Research Fellowship.

References

- [1] Kupershmidt B A 1985 Commun. Math. Phys. 99 51
- [2] Kupershmidt B A (ed) 1990 Integrable and super integrable systems (Singapore: World Scientific)
- [3] Mulase M 1988 Invent. Math. 92 1
- [4] Laberge C A and Mathieu P 1988 Phys. Lett. 215B 718
- [5] Watanabe Y 1987 Lett. Math. Phys. 14 263
- [6] Ghosh S and Paul S K 1995 Phys. Lett. 341B 293
- [7] Kupershmidt B A 1988 J. Math. Phys. 29 1990